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2 ) 2

1 o
3 [1+ cos(457)]

, (45 _1l1+ 1
cos 2 —2 \/E

2v2 4
457\ V24 V2
cos 2 = 2

(% "@%@

The National ef[earning Pm’ta[for The General Education



12 eg o
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2
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03.

1+cos 26

sin20 coto

1+ sin 26— cos 260
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o 1+ sin(26) — cos(260)
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(14 cos20) + 2sin6H.cos B
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sin(54°) = sin(90° — 36") = cos(36") = 1 +4\/§
cos54° = cos(90o - 36°) = sin(36°) = 10+2\/§
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II.  sin?(24") — sin?(6") =
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cos ()] [+ eon G [ eon ()] 1 + con 2

iveos@) [t +eos(F] [ eos(r = [+ sl )
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08. cos ( )+cos (ZZ) 25;:@ DO BABDS DOBID.

eost ()] + oo ()]

. 1+ cos (7?”)-2

2
25— 4V3)
T 16 O ™
09.
. sinA.sin(60° — A).sin(60" + A) = ﬁ sin 34
II.  sin®A + sin’ (2?” + A) + sin ( ) — —sm 34 99 @@

DOBIB.

. sinA.sin(60° — A).sin(60" + A) = ﬁ sin 34
©.e sinA.sin(60° — A).sin(60" + A)
sin A. {sin 60°.cos A — cos60°.sin A} {sin 60°.cos A — cos 60°.sin A}

{sin60”.cos A — sin 60° . sin A}

V3 1
{7.cosA+E.smA}

1
{\/gcosA + E.sinA}

%sin 3A = €.85¢
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II. sin®A + sin® (Z_n + A) + sin® (4—” + A) = —Esin 3A
3 3 4
.3 3 (2T . 3 (4T

D. & sin” A + sin <?+A)+sm <?+A)
+ %[3 sin (Z?H + A) — sin(4m + 3A)]
1 . o
2 [3sinA — sin3A + 3sin(120 + A) —sin(34) + 3sin(240 + A)]

3 . 3. . . o .
—Zsm(BA) + 1 [sinA + 2sin(180 + A) cos(60 )]

3 3 1
—Zsin(BA) + 1 [sinA + (—sinA) X 3

3 3
~2 sin(34) + 2 [sin A — sin A]

3
~32 sin(34) = e.e
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